S AT
HE: QAR S A RI A BRI S
SE e B

SA - BB (30) - NISAR - BAS Ofl b e limE==,
off &=kt 1,675,517 11,013,997 661,520
= 1,287,530
& 2,942,687
CH 590,000
= 6,855,300
O ==L AR B = A A FH A 2 5} 8,500,277 7,720,957 779,320
= 559,310
= 2,520,687
CH 590,000
= 4,830,280
oY 3,909,029 1,858,087 2,050,942
= 553,200
& 922,480
CH 590,000
o 1,843,349
AT R 60,587 56,495 4,092
201 Let2AH| 46,087 40,495 5,692
01 At 22|l 35,487 25,115 10,372
DAIREE 4 AZE 24|
100,000 *12& 1,200
DaAE AR A
8,000& x5 +703] 2,800
NI S 018 =22
38,300 «3CH*12& 1,379
N2 2EZ 9,000+ 12& 108
NEEE MSasE 7Y
2,500,000& 128 30,000
02 222t 10,600 15,380 24,780
NRES LS 250,000& 128 3,000
NELGHEXSAIEZSEOSE 243
2,000,000& 2,000
NI F=4I
1,800& 1002/ *1CH*202| & 3,600
NI S22 2,000,000 =1CH 2,000
202 o4 12,500 14,000 21,500
01 =LHOd | 12,500 14,000 21,500
=08 HR2FX I
50,0002 *5H *502] 12,500
203 LS F=&H| 2,000 2,000
03 Al F=RIHRFAIH| 2,000 2,000
DNEHAF L GAEE &5
2,000,000& 2,000
Ct=&ol2 )| = X2 50,000 50,000 0
401 Al BIZ20HH| 50,000 50,000
01 Al&Hl 50,000 50,000




SN G AD
e R N L LIESNE BRI
Chol: AR EER-E)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
IEEERESIEIEES
5,000,000 *109H 2~ 50,000
CH=EHULIIEXIXE 300,000 300,000 0
201 2EH=2E| 300,000 300,000
01 AtR2telt| 300,000 300,000
DO LXK 300,000,000 300,000
CISHQII | EXIXI (M AL 900,000 0 900,000
S 720,000
= 180,000
401 A2 HIZ 201 900,000 0 900,000
< 720,000
= 180,000
01 Al&ZHI 900,000 0 900,000
NOSHIAI LXK
112,500,000 *8IH 2 900,000
& 720,000
s 180,000
FUFHEHETA(EE) 522,460 543,533 ~21,073
S 156,738
= 365,722
307 glztold 522,460 543,533 21,073
< 196,738
= 365,722
6 28= 522,460 543,533 A21,073
NOEITHHNEEZ KIRA
292,000,000& 292,000
=S 87,600
= 204,400
NOETHHEEZ XIR ALY
148,460,000 148,460
= 44,538
o 103,922
DAHACINMBHE KR ALY
82,000,000 82,000
= 24,600
= 57,400
SAEHREZES(EX) 63,000 60,648 2,352
& 9,450
= 53,550
201 &EH=2EH| 63,000 60,648 2,352
= 9,450
o 53,550
01 AtR2t2l8l 63,000 60,648 2,352




2A:
X ZH -
o=

&

Ol ol

dEE
Oil &K

A H

63,000
9,450
53,550

M

84,140
25,242
58,898

60,000

24,140

307 gIztold

M

84,140
25,242
58,898

60,000

24,140

N HTZ 0IXXHY X
84,140,000

M

84,140

84,140
25,242
58,898

60,000

24,140

oW

70,000
56,000
7,000
7,000

70,000

Mo

7,000
5,600
700
700

7,000

7,000,000

HoH W

7,000

7,000
5,600
700
700

7,000

Mo W

63,000
50,400
6,300
6,300

63,000

14 J|EIE2 &t

fn §
o
N P EZHAY

63,000,000

HOH W

63,000
63,000
50,400
6,300
6,300

63,000

HEAL DA AR E(EX)

H

48,000
24,000
24,000

100,000

/52,000

=
N

I

02 RIERH201H

r
i

MW

48,000
24,000
24,000

100,000

AB52,000




S oA ADt
M YA RS AT A A 25}
Chol: AR EER-E)
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
02 QIZEXH2AIE 2 = (0| & &) 48,000 100,000 AB2,000
DESIH S SHVHF)
1,150, 0002 * 1671 2 *60% 11,040
= 5,520
= 5,520
DHREX 200, 0002 10074 2~ *60% 12,000
= 6,000
= 6,000
NASASHER 1,600, 0002 * 174 2 *60% 960
= 480
= 480
1)V-PASS 1,000, 0002 *407H 2~ *60% 24,000
= 12,000
= 12,000
FSENHXNBZEES(EX) 320,000 420,000 A 100,000
= 160,000
= 160,000
402 SIZERE0I N 320,000 420,000 A 100,000
= 160,000
o 160,000
02 QIZIXH2AIE 2 (0| M &) 320,000 420,000 100,000
DES=wl R PSSt
533,333, 333& * 17 2 #60% 320,000
= 160,000
= 160,000
AEHACZI| 2 XA 70,000 70,000
307 SI2H0| ™ 20,000 20,000
02 QI BAAITE R 20,000 20,000
DAYEHE SSI |2 MK 2 AL Ol XHKI&
400,000 *50H 20,000
402 QIZH X201 ™ 50,000 50,000
01 QX2 AISE 2 & (KERITHE) 50,000 50,000
NAEHE 2|2 AKX
17,857, 1002 * 144 2 %20% 50,000
MEHESHAES(EX) 141,000 14,286 126,714
= 98,700
= 42,300
402 RIZER=01 A 141,000 14,286 126,714
= 98,700
= 42,300
02 QIZEX2 AL S ( [H ) 141,000 14,286 126,714
NMIHLAHRE
17,625,000 *874 2+ 100% 141,000
= 98,700
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A o4kt
e R N L LIESNE B eI
Chol: AR EER-E)
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
03 SHAI2 I 10,000 0 10,000
DENHEOINHGIEHOISUE
10,000,000& 10,000
= 7,000
= 3,000
207 AN | 60,000 0 60,000
= 42,000
o 18,000
01 H1E=<| 60,000 0 60,000
NEHZOINY 12 L MEfKRAEZAL
30,000,000 23| 60,000
= 42,000
= 18,000
307 2I2+01 ™ 50,000 0 50,000
= 35,000
= 15,000
02 QI B AAIHE X 50,000 0 50,000
NEHRIE HMEXH 10,000,000 10,000
= 7,000
= 3,000
NEHAZEMEXE 20,000,000& 20,000
= 14,000
= 6,000
DEHEOIHYE R4 =0IFAH K&
20,000,000& 20,000
= 14,000
o 6,000
401 Al&BIZ20HY| 120,000 0 120,000
= 84,000
i 36,000
01 Al&HI 120,000 0 120,000
NEHE0INE RA EB22 AAIEH
120,000,000& 120,000
= 84,000
o 36,000
HEFLAU(AZUS) 770,000 0 770,000
CH 590,000
= 180,000
402 QIR =01 A 770,000 0 770,000
CH 590,000
= 180,000
02 QIZEXH2AIE E Z (01X TR ) 770,000 0 770,000
N P2LAUAIS 770,000,000& 770,000
CH 590,000




SN G AD
e - L LTSN BRI
Chol: AR EER-E)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
| 2 180,000
QISR (EX) 7,200 0 7,200
= 4,500
s 810
= 1,890
307 21201 7,200 0 7,200
= 4,500
< 810
= 1,890
02 LB HAIHE 7,200 0 7,200
NP A= X RIS 80,0002 902 7,200
= 4,500
& 810
= 1,890
HL-LH20FENSHEIH AT 55,000 0 55,000
207 AR 55,000 55,000
01 H7ESHI 55,000 55,000
Nofl L4208 =M S HEHA 7= 24
55,000,000 55,000
MRS 2,699,583 2,207,721 491,862
& 1,335,680
= 1,363,903
USRS 16,832 16,944 A112
201 &Er=23| 5,632 8,544 A2,912
01 AtR2telH| 5,632 8,544 A2,912
NAIRES 2 A2F P2
70,0002 122 840
NSRS RFE A
8,000& *x4& +562 1,792
1R&X EAIE JIZ 10,0002 *300H 3,000
202 O 11,200 8,400 2,800
01 =LHOHI 11,200 8,400 2,800
NSRS RFX U
50,0003 x4 +56 11,200
SASASBMSHEALE(EX) 200,000 400,000 A200,000
= 60,000
o 140,000
402 2I2EA=01 & 200,000 400,000 200,000
s 60,000
= 140,000
02 Bl XHEAISE R (0IETHE) 200,000 400,000 A200,000
N=MSAEN2HNEALAY
10,000, 0002 x40 *50% 200,000
= 60,000




S ol At
e R N L LTSN B R
telr SRS (S &)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
| 2 140,000
SASAZTHWIH(EX) 189,600 300,000 A110,400
= 56,880
= 132,720
307 elztold 189,600 300,000 A110,400
= 56,880
i 132,720
02 LB YAIEE X 189,600 300,000 110,400
N MEATE TR ALY
2,400,000& 79 189,600
= 56,880
= 132,720
VEALSSEH+=2SXJ(EX) 12,000 0 12,000
= 4,000
= 8,000
307 elztold 12,000 0 12,000
= 4,000
o 8,000
02 QB AAEE R 12,000 0 12,000
NVEAdLSTH++2 X2
12,000,000& 12,000
= 4,000
o 8,000
SASARIIIZBAIE (HEALY) 800,000 0 800,000
s 400,000
= 400,000
402 RI2EA=01 S 800,000 0 800,000
= 400,000
o 400,000
02 QI AHEAISE (01X THS) 800,000 0 800,000
N==atE AXIDISAIEANY
1,000,000, 000 *80% 800,000
= 400,000
= 400,000
FASSEMSHMEAE (HEAY) 400,000 800,000 400,000
= 250,000
= 150,000
402 2I2EAH=201 S 400,000 800,000 /400,000
& 250,000
= 150,000
02 QI XHZ AL E R (01 M THE) 400,000 800,000 400,000
NHAESEN2MEAIL ALY
500,000,000 * 1 2=*80fk 400,000
= 250,000
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SN G ADt
e R N L LTSN B eI
ol ofekatel CEREED
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
201 &Er=2E| 11,168 7,500 3,668
01 At22tel8l 11,168 7,500 3,668
NEYAHT HII 22
200,000 500 2 1,000
NEgHY g =22 MH S
350,002+ 1074 3,500
NELOATT HAST U ANBE 242
666,800 * 10CH 6,668
308 AXIEMSOIA 1,332 5,000 A3,668
07 AXeM2 = 1,332 5,000 A\3,668
Naggeiet ¢5012 13 223
1,332,000 1,332
GESP = e Pt EEPNESN 50,000 30,000 20,000
401 AIZHIX S0 50,000 30,000 20,000
01 AlZHI 50,000 30,000 20,000
DNOHENLHY S, AR ZAA
2,000,000 *25JH 2 50,000
SAESLHEAIIF 0L 711,000 450,000 261,000
301 Et2 NS 711,000 450,000 261,000
14 IIEt2d=S 711,000 450,000 261,000
NSAZS SAAE 1Y
711,000,000& 711,000
SMTEUHAIIEEH K 100,000 300,000 A200,000
401 Al HIZ SR CHYI 100,000 300,000 200,000
01 Al=H| 100,000 300,000 A200,000
DNEAZE ZADIERIEH K ALY
100,000,000 100,000
AU H THHHXI (2 X) 800,000 400,000 400,000
= 240,000
o 560,000
401 Al HIRL R OHbI 800,000 400,000 400,000
= 240,000
= 560,000
01 Al&HI 800,000 400,000 400,000
1)20239 & 1RO & THHH X
200,000,000 %4 2 800,000
= 240,000
= 560,000
X = 206,581 2,320,705 A2,114,124
= 6.110
s 22,527
= 177,944
SH R = 10,584 7,696 2,888
201 B2 2,184 2,09% 83




SN G AD
e N L LTSN B eI
Pl NI (&)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
01 AFR2telH] 2,184 2,096 88
NHLXIS 2= AL
8,0002*38 *562] 1,344
NAIRES ¥ A23H| 70,0003 * 122 840
202 O] 8,400 5,600 2,800
01 SLHoAHI 8,400 5,600 2,800
N &R PRFE S0
50,0002 x3& *56 2 8,400
Lot E =R 77,000 237,000 160,000
307 glzZtold 77,000 237,000 A160,000
04 QIZFHAMAIE 2 & 77,000 237,000 160,000
)& 2tH0l1 =H 25,000,000& 25,000
g 801 =X 26,000,000& 26,000
NE 9X =A 26,000,000& 26,000
HEXME0ISZE(EX) 22,297 21,009 1,288
= 6,110
= 2,527
= 13,660
307 glztol & 22,297 21,009 1,288
= 6.110
= 2,521
= 13,660
03 LA EEZSHIE X 22,297 2,200 20,097
NOHEMENS MRE EZEYZ
2,500,000 2,500
DNOHENEOS ARE 40 2=
2,200,000 2,200
NOEMEDIES MR HEXZ A
17,596,900 17,597
= 6,110
= 2,527
= 8,960
HAIEEE A (HEALY) 66,700 90,000 A\23,300
= 20,000
= 46,700
401 AIZHIXL 20 66,700 90,000 223,300
s 20,000
o 46,700
01 AlZH] 66,700 90,000 223,300
NSAIEH 22008 A 66,700,000 66,700
= 20,000
o 46,700
HEAIE=2c] 30,000 40,000 10,000
201 =23 20,000 30,000 210,000




SN G AD
e N L LTSN BRI
Pl NI (e )
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
01 AFR2telH] 20,000 0 20,000
NES4A ZHI Sx 4,000,000 *57H 20,000
401 Al HIR 01 10,000 10,000 0
01 AlZH| 10,000 10,000 0
NHLAL=ES AL+
1,000,000& %1001 2 10,000
ot St o g 2el 3,162,840 3,279,840 A117,000
= 728,220
= 422,000
= 2,012,620
oHE st 3,162,840 3,279,840 A117,000
= 728,220
= 422,000
= 2,012,620
o 2t 4,900 9,820 24,920
201 24| 1,400 2,320 A920
01 Ar2teltl 1,400 2,320 A920
NoleH st G221 0HAYI
8,0002x2& +353] 560
DARESE & A2 70,0003 * 122 840
202 Od| 3,500 7,500 24,000
01 =LHOHI 3,500 7,500 4,000
NoflLE st YRFE S LHOHI
50,0002 x2& +35 3,500
THEOIAMY D40 (M EAL) 90,000 60,000 30,000
= 45,000
= 45,000
307 2I2t01d 90,000 60,000 30,000
= 45,000
o 45,000
05 glt?I& = 90,000 60,000 30,000
NZYSAAMY D =IHAY
90,000,000 90,000
= 45,000
o 45,000
SHAM YDA E I EAXI (HEALY) 600,000 500,000 100,000
< 300,000
= 300,000
401 AlEHIZ 20 600,000 500,000 100,000
= 300,000
= 300,000
01 Al&HI 598,200 498,000 100,200
Dol Z2eld| da&sty &Xl
99,700,000 *6IH 2 598,200




S A
M O A EHIS ol 28 2
o AT CEREED
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
= 299,100
= 299,100
03 AIE =T8I 1,800 2,000 A200
oM daEsoHs &R
600,000,000 0. 3% 1,800
& 900
= 900
HLMIIEBH(EX) 700,000 1,810,080 21,110,080
401 AlEHIZL S0 700,000 1,810,080 21,110,080
01 Al&HI 697,480 1,800,000 21,102,520
1oHeMeD| ZSHALS 697,480,000 697,480
03 A2 HHI 2,520 10,080 AT7,560
Do eM D] HatAr 2,520,000 2,520
HICHEHE XIZ0IRIR (B X) 501,440 341,440 160,000
= 248,220
= 253,220
101 @124H| 483,840 323,840 160,000
= 241,920
= 241,920
M OIRINZZ2XNSE S 483,840 323,840 160,000
NEICHE>ZXIZ0 el
2,160,000 28 & ~8& 483,840
= 241,920
= 241,920
201 B2 17,600 17,600 0
= 6,300
e 11,300
01 AlR2teltl 12,600 12,600 0
NHIcEE X201 A28 7€
1,575,000 «8 12,600
= 6,300
= 6,300
02 S3=48l 5,000 5,000 0
Dol fFH|
1,000,000 +57H 2 5,000
MY SHEGIE2E(EX) 420,000 0 420,000
= 210,000
o 210,000
401 Al HIRL 2 CHYI 420,000 0 420,000
= 210,000
= 210,000
01 Al€H| 420,000 0 420,000
NofLMedl S48ty 29
30,000,000 * 149H 2 420,000




e H [
Hu: olotl

el o E St (&9 &2l)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
= 210,000
= 210,000
LMD ISATSEEXI(EX) 100,000 50,000 50,000
= 70,000
= 30,000
401 AlZHIRL 201 100,000 50,000 50,000
= 70,000
[ 30,000
01 Al&HI 99,100 49,748 49,352
oM SAESH &1
49,550,000 204 2= 99,100
= 69,370
= 29,730
03 AIE =0l 900 252 648
Dol g2eldl s4EoHy EX
100,000,000 *0. %% 900
= 630
= 270
HEZHAEIZSTEII2E 38,500 238,500 A200,000
201 B2 38,500 38,500 0
01 AFR2teltl 2,500 2,500 0
N2ERE IISHl & A28 2¢
500, 0002 *5H 2,500
02 35234l 36,000 36,000 0
3323 % NASU=
6,200,000 *57H A 31,000
DA S22 1,000,000 *50H 2 5,000
HAEIZSAEIIES(EX) 250,000 250,000 0
= 200,000
o 50,000
401 AIZHIXL 20 250,000 250,000 0
= 200,000
o 50,000
01 AlZH] 249,000 249,000 0
NHAEI2EZZEI| &X 249,000,000& 249,000
= 199,200
o 49,800
03 AIZSTHBI 1,000 1,000 0
NHAEIZ2EZZSI| &X
250,000,000 0. 4% 1,000
= 800
= 200
SRS X (HEALY) 28,000 0 28,000
< 14,000




S A
M O A EHIS ol 28 2
cl: HeE S CEREED
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
= 14,000
401 AIZHIZL RO 28,000 0 28,000
& 14,000
= 14,000
01 Al&ZHI 28,000 0 28,000
Nexiade Fel XA 28,000,000& 28,000
= 14,000
= 14,000
HEMYD|=HEHIES(EX) 210,000 0 210,000
= 63,000
= 147,000
405 AtatE SH 210,000 0 210,000
=S 63,000
= 147,000
01 AL =S F S 210,000 0 210,000
LMD = EH ESAt
210,000,000& = 1CH 210,000
= 63,000
= 147,000
HEESHFSY=IIEX 20,000 20,000
402 BIZ2tA=01d 20,000 20,000
01 QIZEXH2 AL 2 (RERITH ) 20,000 20,000
Nogde Hes 2= £X
20,000,000& 20,000
ZotRol MY DI ™ (EX) 200,000 200,000
401 Al HIZ S CHYI 200,000 200,000
01 AlZHI 200,000 200,000
125 LMD MelAte
200,000,000& 200,000
HY2 I LI (G400 12,400 13,200 A800
Jl=dHl 12,400 13,200 A800
J1234l 12,400 13,200 A800
201 EH=2EH| 2,400 3,200 A800
01 ArR2telH] 2,400 3,200 A800
NREN2E ARl 2,400,000 2,400
202 04| 6,400 6,400
01 SLHoAH 6,400 6,400
NEA2E U0l 50,000 16«82 6,400
203 R =& 3,600 3,600
4 FA2ELPFAL 3,600 3,600
a4t A2 (2021015
300,000 * 122 3,600




